A Class of Generalized Hausdorff Means*

Yang Jiaxin

(Dalian Institute of Technology)

In the research of divergent series the important idea is that choose a suitable transformation have to be of regularity, of sequence of partial sum of the series. The Hausdorff transformation is $H = \delta \mu \delta$ in matrix form, in which μ is any diagonal transformation and δ is so-called δ -transformation. In this paper, we construct a class of generalized Housdorff transformation using the Gould-Hsu inverse series, and give necessary and sufficient condition of that it should be regular.

The Gould-Hsu inverse is

$$\begin{cases} t_n = \sum_{k=1}^n (-1)^k {n \choose k} \psi(k, n) s_k \\ s_n = \sum_{k=0}^n (-1)^k {n \choose k} \frac{c_{k+1}}{\psi(n, k+1)} t_k \end{cases}$$
 (1)

where $\{a_i\}$ and $\{b_i\}$ are two sequences of nonnegative number such that

$$\psi(x, n) = \prod_{i=1}^{n} (a_i + b_i x) = 0$$

for all nonnegative integers x, n, and $c_{k+1} = a_{k+1} + kb_{k+1}$. We have $t = \hat{\delta}s$, $s = \hat{\delta}^{-1}t$ in matrix form, where $\hat{\delta}$ is the generalized δ -transformation. In general, $\hat{\delta}$ isn't a self reciprocal transformation.

 $\widehat{H} = \widehat{\delta}\mu\widehat{\delta}^{-1}$ is called the generalized Hausdorff transformation, where μ is any diagonal transformation, It is not difficult prove that any two \widehat{H} transformations are commutable. Since H includ two sequence $\{a_i\}$, $\{b_i\}$ as the parameters, hence the freedom of a class of \widehat{H} is very large. A class of \widehat{H} considered by us is that let $a_i = 1$, $i = 1, 2 \cdots$, and suitable choose b_i such that $c_i = a_i + (i-1)b_i = 1 + (i-1)b_i < B$ for all i, i is a constant independent of i. Let $t = \widehat{H}s = \widehat{\delta}\mu\widehat{\delta}^{-1}s$. It can be written $t = \widehat{\delta}v$, $v = \mu u$, $u = \widehat{\delta}^{-1}s$. Then

$$t_{m} = \sum_{k=0}^{m} (-1)^{k} {m \choose k} \psi(k, m) v_{k} = \sum_{k=0}^{m} (-1)^{k} {n \choose k} \psi(k, m) \mu_{k} u_{k}$$

$$= \sum_{k=0}^{m} (-1)^{k} {m \choose k} \psi(k, m) \mu_{k} \sum_{n=0}^{k} (-1)^{n} {k \choose n} \frac{C_{n-1}}{\psi(k, n+1)} s_{n}.$$
(2)

* Received Nov. 22. 1986.

(to p47)

References

- [1] Penot, J.P., Fixed point theorems without convexity, Bull. Soc. Math. France Mem., 60, 129-152(1979).
- {2] Kirk, W.A., An abstract fixed point theorem for nonexpansive mappings, Proc. Amer. Math. Soc. 82, 640-642 (1981).
- [3] Kirk, W.A., A fixed point theorem for mappings which do not increase distances, Amer. Monthly, 72, 1004-1006(1965).
- [4] Gillespie, A.A.& Williams, B.B., Fixed point theorem for nonexpansive mappings on Banach spaces with uniformly normal structure, Applicable Anal., 9, 121-124(1979).
- [5] Gillespie A.A.& Williams B.B. Some theorems on fixed points in Lipschitz and Kannan ty pe mappings, J.Math. Anal. Appl., 74, 382-387(1980).
- [6] Kannan, R., Fixed point theorems in reflexive Banach spaces, Proc. Amer. Math. Soc. 38. 111—118(1973).
- [7] Kaukich, M.V., On fixed points of nonlinear operators, Soobshch. Akad. Nauk Gruz. SSR. .99. 297-299(1980). (Zbl. 462.47038, 1982)
- [8] Wong, C.S., On Kannan maps, Proc. Amer. Math. Soc., 47, 105-111(1975).

(from p48)

Let $P^{(m)}(x) = \psi(x, m)/\psi(x, n+1)$, then

$$t_{m} = \sum_{n=0}^{m} C_{m, n} s_{n} \tag{3}$$

 $C_{m, n} = c_{n+1} {m \choose n} \Delta^{m-n} (p^{(m)} (n) \mu_n).$

Theorem In order that the transformation (3) should be regular, it is necessary and sufficient that for every m sequence $(P^{(m)}(n)\mu_n)$ should be the difference of two totally monotone sequences, that

$$\Delta^{m}(P^{(m)}(0)\mu_{0}) \rightarrow 0 \quad (m \rightarrow \infty)$$

and that $\mu_0 = 1$.

References

- [1] G. H. Hardy, Divergent Series, Oxford, Clarendon Press, 1949.
- [2] H. W. Gould &.L.C. Hsu, Duke Math. J., 40(1973), 885-891.